
10 

20

3.7 

100 

120 

32.1 

(a) (£) 8.90 

(a) 200 ÷ 5 or 40 
or 200 × 3 or 600 

or × 200 
or 0.6 × 200 

(b) 64 p or £ 0.64 

(b) Attempt to divide 12.6 by 2 or 6.3 
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Mark schemes 

Q1. 

Q2. 

Q3. 

Q4. 

B1ft 

A1 

A1 

Q1 

Q1 

B1 

M1 

M1 

B1 

B1 

SC1 for 19.2 

ft 23.7 − their 20
SC1 169.6 

strand (i)
Do not accept 8.9 or 890 or 8.90p or 890p 

strand (i) Must have correct units
Do not accept £0.64p or 64 or 0.64p or 0.64 

[2] 

[4] 

[2] 

[2] 
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9 

9 

–7.4 

0.03 

(b) (0).32 

(a) (0).06 or 
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Q5. 

Q6. 

Q7. 

Q8. 

Q9. 

Q10. 

 
oe decimal or fraction 

B1
(0).02 or (0).12 or (0).22 or (0).42 or −(0).32 

B1 

B1 

B2 

B1 

B1 

B1 

B1 

[3] 

[1] 

[1] 

[1] 

[1] 

[1] 
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